VN
EBLING

1999 - 2007 Ford Super Duty 2A Mount Instructions

Step 1 - Lay out Ebling parts and hardware to familiarize yourself with contents.

Step 2 — Remove wire loom clips from factory hitch. Unplug trailer plug and any
wire loom for bumper.

Step 3 — Remove 4 factory bolts from each side of existing hitch (make sure hitch
is supported while removing these bolts). Slowly drop hitch from frame and
remove.

Step 4 — Remove trailer plug and bracket from factory hitch (this will be
remounted once mount is installed). Also remove 4 nut clips from inside frame
rails (these will not be reused).

Step 5 — Place 5/8” x 2” bolt with flat washer through furthest rear holes, 1 each
side.

Step 6 — Raise Ebling mount into position against frame and finish bolts with 5/8”
flats, lock washers and nuts. Finger tighten only.

Step 7 — Place remaining 5/8” bolts and flat washers in the other 6 holes (3 each
side). Finish bolts as in previous step.

Step 8 — Make sure mount is centered on frame and tighten all 8 - 5/8” bolts to
torgue specification shown on chart.

Step 9 — Now working on one side at a time, loosen and remove bumper bracket
nuts on side of frame, remove bumper bracket from bumper itself.

Step 10 — Position side support plates over frame side bumper bracket bolts and
mark holes to be drilled on side plates.

Ebling Snowplows 6.14.17



Step 11 — Drill 2 - 9/16” holes where marked and place the plates back on frame
bolts, reassemble bumper bracket using factory bolts and nuts. Add 2 — 7" x 1 %"
bolts from outside in through side support plate and mount itself. Finish with lock
washers and nuts. 2 each side.

Step 12 — Repeat for other side of truck.

Stepl3 — Making sure bumper is straight and level, tighten all bolts to
specifications shown on chart.

Step 14 — Now locate spot on bumper to drill and mount trailer plug and bracket
removed in step 4. Due to differences in trucks this position is owners choice. Plug
in trailer plug and any wire looms removed in step 2.

*All parts and hardware included for the 2A mount must be used in the
installation. Any missing or non-OEM parts or hardware will void warranty.

Installation of mount is complete.

Ebling Snowplows 6.14.17



HOLES USE
SAME HARDWARE
TYPICAL BOTH SIDES

NOTES

BRACKETS.

ONLY.

1. AFTER FULLY INSTALLING MOUNT ASSEMELY, ATTACH SIDE PLATE BRACKET TO FRAME. ONCE ALL BOLTS ARE
FULLY TIGHTENED, TRANSFER HOLES FROM SIDE PLATE AND DRILL (2) 9/16 HOLES SHOWN IN SIOE SUPPORT

2. USE FACTORY FASTENERS FROM REMOVAL OF TRAILER HITCH, AND FASTENERS PROVIDED BY EBLING & SON

3. ACTUAL FRAME MAY DIFFER-SHOWN FOR REFERENCE ONLY, CUT OUTS IX FRAME ARE TO SHOW DETAILS ONLY.
4. OLDER MODEL MOUNTS MAY HAVE MODEL NUMBER STAMPED IN BOTTOM. _—

SEE DETAILA

FOR MODEL NUMBER

(STAMPED ON TOP
SEE NOTE 4)

Ebling Snowplows 6.14.17




TORQUE SPECIFICATIONS

BEFORE DRIVING YOUR

VERICLE, YOU SHOULD BOLT GRADES
i CHECKTHE TORQUE ON ALL  §|) g SAE 2 g SAE 7 AE 8
| NUTS AND BOLTS IN THE KIT, Al Bt
i INCLUDING ANY SLIDER

| BOLTS ON THE CALIPERS.
i RE-TORQUE CALIPER BOLTS

AFTER 500 MILES. ALL

SPECIFICATIONS ARE IN Metric
FT-LBS.
brgrremre—od N -
Steel | Low Medium Medum
Type | Garbon Carbon Carbon Alloy
{soit) Heat Treat | ARoy
SAE | Balt 2 2 L] 5 7 Socka!

Head
Cap
Stiew |

Grade

szl

| Balt Thread | Dy Cled Dy Qied Ory

L AN, | R [ 18

i L) L o I (Lo .-

; /T, & e 7 RSN - R i s R
112 9
16
22

Ebling Snowplows 6.14.17

e e e



